CornacoBaHo: Ilepeyenb OCHOBHBIX JeTAJIEN U Y3JI0B VTBer(ZlaIO
HNuxeHep-KOHCTPYKTOp ra3’oHOKOCHJIKH PVYHOM TexHuYeCcKUil TUPEKTOP
_ HerporB.I. aaexTpuyeckoii F'PI-1,5
WHKeHep TEXHOJIOT _ Anncenxos O.A.

Pomanuyk A.C. T 2015,

IMo3. HaunmeHoBanune Kou. 31 CronopHoe koJbio & 23 1
1 "atika M10L 1 32 Komneco 3y6uaroe Z=22 1
2 Dranen BHENIHHH 1 33 HMommumauk 606RS (6x17x6) 1
3 Hox 1 34 BunT (camopes) 4x16 10
4 dnanHen 1 35 Kopnyc mpaBblif 1
5 @ranen BHYTPEHHHI 1 36 Bunr (camopes) 4x16 3
6 Bunt M5x10 S 3 37 Bunr (camopes) 4x14 4
7 QDiaHel NbUIe3alUTHBINA 1 38 Kpsliika peykropa 1
8 bobuna B cbope 1 39 BunT (camopes) 5x55 2

8.1 | Kopmyc 600uHEbI 1 40 Kopmyc penykropa 1

8.2 | Illaitba @ 16 2 41 [Tommunank 6001 RS (12x28x8) 1

8.3 | Ilpyxwuna koHmdeckas 2.2 =59 1 42 SIkops 1

8.4 | Karyuika 1 43 IMommmmauk 608 RS (8x22x7) 1

8.5 | Koxyx 3aluMTHBIHA 1 44 BhIKIIOYaTEND 1
9 Penykrop B cbope 1 45 Konnencarop (0,33uF; 275B) 1

9.1 | Konplo cTonopHoe BHyTpeHHee @ 32 1 46 Biok masHoro nycka (8A, 230V, 50Hz) 1

9.2 | UHlouunens 1 47 Jpoccenb 1

9.3 Hommmmank 6002RS (15x32x9) 1 48 Crarop 1

94 Koueco 3ybuaroe Z=20 1 49 ®nanen 3aIHAN 1

9.5 | Hogmmnauk 6000RS (10x26x8) 1 50 Bunr (camopes) 3x10 2

9.6 | Kopnyc penykropa 1 51 [lerka 7x11x17 2

9.7 | Buar M6x10 S 1 52 [leTkoaepxKaTelb 2

9.8 | Buar M5x12 S 1 53 Brynka @ 8 1

9.9 | Buar M5x25 S 1 54 Bentuisitop 1

9.10 | Bay-mecrepust Z=15 1 55 Taiika M8 1

9.11 | Homgmmmauk 609RS (9x24x7) 2 56 HIuyp cerepoii 2x1, L=0,55m 1

9.12 | Koms1io cronopHoe BHyTpeHHEee ) 24 1 57 Tpy0Oka 3amuTHas 1

9.13 | Koms1o cronoproe @ 10 1 58 Bunr (camopes) 4x11 2
10 | Koxyx 3aluTHbII 1 59 [InacTuHA OPUKUMHAS 1
11 [lItanra HUKHsIS B cOOpe 1 60 Kopriyc JieBblit 1

11.1 | Hwwxknsasg mrandra 26x730mMMm 1 61 BJIOKUPOBKA BBIKJIIOUATENIS] 1

11.2 | 3aknemnka 1 62 IIpyxuHa kpydeHus 1.5x12x6 1

11.3 | Kponureiin 1 63 Ckoba 1

11.4 | IIlnactuHa — npyXHHA 1 64 [pyxuna 0.8x9.5x25 1

(TIoKa3aHa yCclIOBHO) 65 KIaBuina BHIKIIOYEHUS 1

11.5 | 3aknemnka 1
12 Bunt M5x16 S 2
13 Brynka (mmactuk) @ 22,5 6
14 Kectkuii Ban 9x745Mm 1
15 Brynka npusogHas 2
16 | Dukcarop 4
17 KpoHurelin kpenjieHus: IITaHr|u 1
18 Bunr 3axxuMHoil M6x22 1
19 Bunt M6x20 S 1

20 Bunrt (camopes) 5x8 1
21 Bepxnsist mranra 26x660Mm 1
22 Bunt M5x18 S 2
23 Kponmreitn 1
24 I"aiika M5 2
25 [onmypydka neBas 1
26 [omypyuka mpasast 1
27 KecTkuii Ban 9x626MM 1
28 Hommmmank 6000 RS (10x26x8) 1
29 Inunpaens 1
30 | Illnouxa (3x3.7x9) 1 lazonokocuiika

I'PO-1,5
JIuct 1




I"'azoHOKOCHIIKA
I'PD>-1,5
Jlucr 2

_3| _|30__|292 16}Ju|15 27]

' B
160U |15 |14




